1.

d (1 0% log L(#, X))—l (L dlog L(6; X)

n 06006 \Vn 00
¢ 1 dlog L(8; X)
WW__ - o>/
= a0 )-

Optimization (OJ O [J ):
MLE of 6 results in the following maximization problem:

max log L(6; x).
0

‘We often have the case where the solution of 0 is not derived in closed form.

= Optimization procedure

0- dlog L(6;x) _ dlog L(6*; x) . 0% log L(6"; x)

90 96 aeoe 00

Solving the above equation with respect to 6, we obtain the following:

g — P log L(0";x)\ ' 8log L(6"; x)
B A006’ 90 '
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) has the same asymptotic distribution as



Replace the variables as follows:

0 —> 0(i+1)’ 0* SN 6(!)
Then, we have:
Qi+ — g _ & log ;)\ 9log L x)
B 9000’ 90 '

— Newton-Raphson method (U O O OO OOOOOO)

& log L(0; & log L(0;
Replacing gOENY - Y 070 b E(—Og L x)

in the f i imiza-
9000’ 9000 ), we obtain the following optimiza

tion algorithm:

9(i+1) — Q(i) _ (E (02 lOg L(Q(l), X) ))_1 o log L(Q(l), X)

06006’ 00
. - (@)
g, (1(9(1))) 1 0log g(@@ 3 X)

— Method of Scoring (I 0 0 0)
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1 1
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i=1
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